0

1N

FE —BRIEESR NO) ARIE

2l SHI2E SHBE
z = 47 5 6F 7R 5A 5F 08 | 1A | 128 A 2F ;g | FHIE
BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364
;Q B % B R il 718 742 718 736 742 716 742 718 732 737 670 740 8711
5 A¥EiYiE ppm 0.002 0.002 0.002 0.003 0.002 0.002 0.003 0.004 0.006 0.009 0.006 0.004 0.004
| 1HBEEDRSIE ppm 0.025 0.014 0.012 0.050 0.021 0.021 0.049 0.065 0.111 0.142 0.128 0.062 0.142
BEHEOSSIE ppm 0.004 0.003 0.004 0.021 0.004 0.004 0.009 0.013 0.022 0.038 0.021 0.010 0.038
AxhAIEEE B 30 31 29 31 31 17 169
B % B R R 718 740 705 742 742 422 4069
B EEZEIE ppm 0.002 0.003 0.002 0.001 0.002 0.001 0.002
1HRENRSIE ppm 0.023 0.016 0.009 0.009 0.012 0.011 0.023
HESEDRSIE ppm 0.006 0.006 0.005 0.003 0.003 0.002 0.006
BEAIEBE =] 30 31 30 31 31 30 31 30 31 31 28 31 365
= I % BF fF il 718 742 718 735 742 715 742 718 737 742 670 741 8720
EE EEZSIE ppm 0.001 0.001 0.001 0.001 0.002 0.001 0.002 0.002 0.005 0.009 0.004 0.002 0.003
1BRENRSIE ppm 0.011 0.005 0.005 0.018 0.250 0.008 0.061 0.036 0.210 0.187 0.150 0.047 0.250
HEHEDRSE ppm 0.002 0.001 0.001 0.003 0.026 0.002 0.011 0.008 0.041 0.044 0.020 0.010 0.044
AEIEHH B 30 31 29 31 31 30 31 30 31 31 28 31 364
5 B B igii! 717 742 712 736 742 717 741 718 738 742 670 741 8716
- EEZEIE ppm 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.002 0.003 0.005 0.005 0.002 0.002
= 1BRENRSIE ppm 0.015 0.009 0.006 0.007 0.008 0.031 0.057 0.067 0.057 0.119 0.109 0.073 0.119
HESEDRSIE ppm 0.003 0.002 0.001 0.002 0.001 0.007 0.004 0.010 0.008 0.030 0.024 0.010 0.030
BxhAIEBE =] 30 31 30 31 31 17 170
B 3Bl 7E R R R R 718 742 718 736 742 417 4073
A EEZEIE ppm 0.001 0.000 0.000 0.000 0.001 0.000 0.001
E:3 1HRENRSIE ppm 0.013 0.004 0.012 0.004 0.014 0.004 0.014
HESEDRSIE ppm 0.002 0.001 0.003 0.002 0.003 0.001 0.003




SHI2FE —FBIEEFR (NO) ARE
2l SHI2E SHBE
z = 47 5 6F 7R 5A 5F 08 | 1A | 128 A 2F ;g | FHIE
BEAEBH =] 30 20 50
= B % B R il 716 487 1203
i A¥EH1{E _ ppm 0.001 0.001 0.001
1BRENRSIE ppm 0.021 0.010 0.021
ABEMENESE ppm 0.004 0.002 0.004
AxhAIEEE B 30 31 30 31 31 30 31 30 31 31 28 31 365
= B % B R R 717 742 712 742 742 717 741 718 736 742 670 741 8720
Eﬁ EEZSE ppm 0.001 0.001 0.001 0.001 0.002 0.002 0.004 0.004 0.010 0.014 0.007 0.003 0.004
1HRENRSIE ppm 0.012 0.015 0.015 0.006 0.012 0.016 0.036 0.052 0.142 0.156 0.147 0.045 0.156
HESEDRSIE ppm 0.003 0.002 0.003 0.003 0.003 0.003 0.013 0.010 0.033 0.040 0.026 0.008 0.040
BEAIEBE =] 30 20 50
it I % BF R el 717 492 1209
= AFEH1{E ppm 0.001 0.001 0.001
a 1BRENRSIE ppm 0.042 0.016 0.042
BEHNEOESIE ppm 0.006 0.003 0.006
AEIEHH =] 30 24 54
i B B igii! 718 585 1303
= A¥EHiE ppm 0.001 0.001 0.001
 BEENESE ppm 0.011 0.005 0.011
HESEDRSIE ppm 0.002 0.002 0.002
BxhAIEBE B 30 18 48
- I 7 B R R 717 456 1173
IEJ EEZEE ppm 0.001 0.000 0.000
1HRENRSIE ppm 0.007 0.010 0.010
HESEDRSIE ppm 0.002 0.001 0.002
BAIEB H 30 31 30 31 31 17 170
e |BIERFE s [l 717 742 710 742 742 420 4073
g AE¥E ppm 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1EREORSE ppm 0.007 0.026 0.007 0.007 0.010 0.030 0.030
HEHEDRSIE ppm 0.003 0.002 0.002 0.003 0.002 0.003 0.003




0

1N

FE —BRIEESR NO) ARIE

2l SHI2E SHBE
: =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R 35 | FHIE
BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364
it B % B R FE 717 739 718 736 742 716 742 716 732 737 670 739 8704
1 AEyiE ppm 0.006 0.004 0.005 0.006 0.006 0.007 0.009 0.010 0.014 0.016 0.013 0.008 0.009
e 1BRENRSIE ppm 0.047 0.028 0.027 0.033 0.033 0.034 0.072 0.144 0.131 0.180 0.168 0.095 0.180
BEHEOSSIE ppm 0.011 0.007 0.009 0.011 0.010 0.011 0.017 0.022 0.035 0.045 0.031 0.017 0.045
AxhAIEEE B 30 31 30 31 31 30 31 30 31 31 28 31 365
? B % B R R 718 740 711 742 742 716 742 716 742 737 670 740 8716
A EEZEE ppm 0.005 0.004 0.004 0.004 0.005 0.006 0.007 0.009 0.011 0.014 0.012 0.007 0.007
% 1HRENRSIE ppm 0.024 0.020 0.034 0.045 0.047 0.045 0.043 0.062 0.091 0.113 0.121 0.061 0.121
HESEDRSIE ppm 0.009 0.008 0.009 0.008 0.009 0.010 0.010 0.016 0.022 0.040 0.032 0.016 0.040
BEAIEBE =] 30 31 30 31 31 30 31 30 31 31 28 31 365
g I % BF fF il 717 739 712 741 742 717 742 716 736 742 670 741 8715
:E AEHiE ppm 0.005 0.003 0.003 0.004 0.003 0.003 0.006 0.008 0.011 0.012 0.010 0.008 0.006
H 1BRENRSIE ppm 0.028 0.026 0.020 0.035 0.027 0.028 0.043 0.062 0.079 0.199 0.157 0.068 0.199
HEHEDRSE ppm 0.012 0.008 0.008 0.013 0.009 0.009 0.014 0.018 0.021 0.034 0.027 0.029 0.034
AEIEHH B 30 31 30 31 31 30 31 30 31 31 28 31 365
jf B B igii! 718 735 712 742 742 717 741 718 742 737 670 740 8714
9 ATl ppm 0.003 0.002 0.003 0.003 0.003 0.004 0.005 0.006 0.011 0.016 0.009 0.006 0.006
% 1HREENRSIE ppm 0.023 0.038 0.034 0.015 0.022 0.030 0.061 0.092 0.192 0.214 0.218 0.119 0.218
HESEDRSIE ppm 0.006 0.005 0.007 0.005 0.005 0.007 0.013 0.025 0.056 0.054 0.027 0.018 0.056
4 H3EIE HE B 30 31 30 31 31 30 31 30 31 31 28 31 365
1 I 7 B R R 718 740 717 736 742 717 742 716 741 737 670 739 8715
8 AEHE ppm 0.005 0.004 0.004 0.004 0.004 0.004 0.007 0.009 0.017 0.022 0.013 0.009 0.008
T 1BRENRSIE ppm 0.040 0.027 0.033 0.034 0.029 0.031 0.072 0.144 0.227 0.199 0.244 0.119 0.244
B HEHEDRSIE ppm 0.011 0.010 0.010 0.011 0.009 0.010 0.020 0.036 0.061 0.073 0.033 0.027 0.073




%%D%EJE =% (NO,) ARE
] SH24E SH3E
% =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE
BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364
B % B R il 718 742 718 736 742 716 742 718 732 737 670 740 8711
A¥EiYiE ppm 0.010 0.008 0.007 0.007 0.007 0.008 0.011 0.013 0.017 0.021 0.018 0.016 0.012
;Q 1BRENRSIE ppm 0.040 0.030 0.029 0.021 0.023 0.028 0.041 0.045 0.064 0.066 0.069 0.057 0.069
5 HESENDRSIE ppm 0.017 0.013 0.014 0.012 0.014 0.016 0.019 0.023 0.04 0.041 0.033 0.028 0.041
| 1 B fEAY0.20pmZ #B 2 1= BRI 2L R ] 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B REEAY0. 1ppm L E0.20pm A FDBSRAZK | FERS 0 0 0 0 0 0 0 0 0 0 0 0 0
H T{B0.06ppmZ A 1= HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0
H F #1E0.04ppm L £ 0.06ppm LT D B £ = 0 0 0 0 0 0 0 0 1 1 0 0 2
BAIEBH =] 30 31 29 31 31 17 169
I % B R il 718 740 705 742 742 422 4069
EEZSE ppm 0.008 0.006 0.005 0.005 0.005 0.006 0.006
1BRENRSIE ppm 0.038 0.037 0.025 0.019 0.022 0.031 0.038
H BEHEOSSIE ppm 0.015 0.012 0.013 0.009 0.009 0.011 0.015
1 BFREEHY0.2ppm % B Z 1= B [E1 31 Bl 0 0 0 0 0 0 0
1 BFREEAN0.1ppm L £0.20pm L F DRERSEL [ BEFS 0 0 0 0 0 0 0
H T{B0.06ppmZ A 7= HEK =] 0 0 0 0 0 0 0
H F{E0.04ppm L _E0.06ppm LT D B #1 H 0 0 0 0 0 0 0
BEAIEBH =] 30 31 30 31 31 30 31 30 31 31 28 31 365
I % BF fF il 718 742 718 735 742 715 742 718 737 742 670 741 8720
AEHiE ppm 0.006 0.004 0.004 0.003 0.004 0.004 0.007 0.009 0.013 0.017 0.012 0.010 0.008
- 1BRENRSIE ppm 0.033 0.026 0.019 0.013 0.036 0.027 0.041 0.041 0.082 0.084 0.069 0.062 0.084
E’g BEHEOSSIE ppm 0.013 0.008 0.01 0.006 0.007 0.009 0.017 0.019 0.047 0.041 0.024 0.022 0.047
1 B REMEAY0.20pmZ B Z 1= B fE1 2 R sl 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B REEAY0. 1ppm L £0.20pm A FOBSRAZR | RS 0 0 0 0 0 0 0 0 0 0 0 0 0
H F{50.06ppmZ 2 7= HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0
H FE$1E0.04ppm L _E£0.06ppm LT D B £ B 0 0 0 0 0 0 0 0 1 1 0 0 2
A3hBIE HER B 30 31 29 31 31 30 31 30 31 31 28 31 364
I 7 B R R 717 742 712 736 742 717 741 718 738 742 670 741 8716
AEHiE ppm 0.006 0.005 0.004 0.004 0.003 0.004 0.006 0.009 0.012 0.015 0.015 0.011 0.008
5 1HFRENHRSIE ppm 0.031 0.022 0.025 0.023 0.014 0.023 0.033 0.048 0.054 0.068 0.068 0.059 0.068
%= BEHNEOSESIE ppm 0.013 0.009 0.011 0.009 0.007 0.009 0.011 0.023 0.030 0.040 0.039 0.025 0.04
b 1 B REMEAY0.20pmZE B R 1= BEEI 2 R il 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BFREMEAY0.1ppm A £0.20pm A FOBFRAZK | BFRE 0 0 0 0 0 0 0 0 0 0 0 0 0
HE1E0.06ppmZE#E A T HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0
H FE 1E0.04ppm L £ 0.06ppm LT D B £ B 0 0 0 0 0 0 0 0 0 1 0 0 1




M2EE ZHMIEER (N02) ARIE

il 25 SIS E
% =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE
BEAEBH =] 30 31 30 31 31 17 170
B % B R il 718 742 718 736 742 417 4073
A¥EiYiE ppm 0.007 0.004 0.004 0.003 0.003 0.003 0.004
= 1BFEEORSIE ppm 0.030 0.025 0.023 0.016 0.017 0.014 0.030
A HESENDRSIE ppm 0.012 0.008 0.008 0.009 0.008 0.006 0.012
= 1 B RSB AY0.2ppm%E #E Z 1= BRI 2K B RE 0 0 0 0 0 0 0
1B EEAY0.1ppm L E0.2ppm LL T 0D B £k E%Fﬁﬂ 0 0 0 0 0 0 0
HFEH{E0.06ppmZE B2 - B =] 0 0 0 0 0 0 0
H £ 15{E0.04ppm L _E£0.06ppm L T D B 1 H 0 0 0 0 0 0 0
BAIEBH =] 30 20 50
I % B R il 716 487 1203
EEZSE ppm 0.008 0.006 0.007
= 1 E%Fﬂﬂﬁ@a%%lﬁ ppm 0.043 0.028 0.043
7 El%’ﬁﬁo?%r%{ﬁ _ _ ppm 0.016 0.010 0.016
1 B REMEAY0.20pmZ B R F- B REI 2K s 0 0 0
1B EEAY0.1ppm L E£0.2ppm LL T O B RE £k B ] 0 0 0
H T{B0.06ppmZ A 7= HEK H 0 0 0
H F{E0.04ppm L _E0.06ppm LT D B #1 H 0 0 0
BEAIEBH =] 30 31 30 31 31 30 31 30 31 31 28 31 365
I % BF fF il 717 742 712 742 742 717 741 718 736 742 670 741 8720
AEHiE ppm 0.008 0.005 0.004 0.004 0.005 0.006 0.010 0.013 0.021 0.022 0.017 0.012 0.011
B 1BRENRSIE ppm 0.040 0.027 0.026 0.017 0.022 0.030 0.041 0.049 0.068 0.072 0.066 0.056 0.072
};ﬁ BEHEOSSIE ppm 0.015 0.009 0.010 0.007 0.009 0.013 0.020 0.020 0.039 0.036 0.032 0.024 0.039
1 BRI HY0.2ppm% 48 % 1= B RS2 R sl 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B EMEHY0.1ppm L £0.2ppm LL T O BRI £ B i 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEH{E0.06ppmZE B Z - B =] 0 0 0 0 0 0 0 0 0 0 0 0 0
H FE$1E0.04ppm L _E£0.06ppm LT D B £ B 0 0 0 0 0 0 0 0 0 0 0 0 0
BAIEBE =] 30 20 50
I 7 B R R 717 492 1209
AEHiE ppm 0.008 0.006 0.007
it 1HFRENHRSIE ppm 0.038 0.024 0.038
=] BEHNEOSESIE ppm 0.016 0.009 0.016
vl 1B [E{E AY0.2ppm%E B Z T- B R 2k i 0 0 0
1 EFFEEAY0.1ppm L £0.20pm A F DBFREISR | B 0 0 0
HEH{E0.06ppmZE B A T- B =] 0 0 0
H ¥E#{E0.04ppm L E£0.06ppm LT D B #1 H 0 0 0




M2EE ZHMIEER (N02) ARIE

v - TR 5 T3S
B 4H 58 6H 7RH 8H 9A 108 118 128 18 2H 38
BEAEBH B 30 24
B % B R il 718 585
A¥EH1{E ppm 0.006 0.004
] 1ERENRSIE ppm 0.025 0.026
2 HEHEDRSIE ppm 0.011 0.008
1 B EMEHY0.2p0pm % B Z 1= B E1 3L R 0 0
1 B RAEAHN0. 1ppm L E0.20pm A S DBERAER | BEFE 0 0
HF#{E0.06ppmZEEZ - B H 0 0
H F¥1E0.04ppm L _E£0.06ppm L T D B H 0 0
BAIEBH B 30 18
I % B R il 717 456
AEHiE ppm 0.003 0.002
B 1ERENRSE ppm 0.015 0.007
IEJ HESENDRSIE ppm 0.006 0.003
1B {EAY0.20pm% B X 1= FEfE1 2 s 0 0
1 BEEEHY0.1ppm EL £ 0.2ppm LA T D B 21 R R 0 0
HF#{E0.06ppmZEE A - HEK H 0 0
H F{E0.04ppm L _E0.06ppm LT D B #1 H 0 0
BEAIEBH =] 30 31 30 31 31 17
I % BF fF il 717 742 710 742 742 420
AEHiE ppm 0.007 0.005 0.004 0.004 0.004 0.004
- 1BRENRSIE ppm 0.026 0.020 0.017 0.018 0.018 0.022
g BEHEDSESIE ppm 0.011 0.008 0.009 0.010 0.007 0.008
1 B REMEAY0.20pmZ B Z 1= B fE1 2 R sl 0 0 0 0 0 0
1BFEEAN0. 1ppm L E0.20pm A T DRFRIE | BERE 0 0 0 0 0 0
H F{50.06ppmZ 2 7= HEK H 0 0 0 0 0 0
H F#1E0.04ppm L _E£0.06ppm L T D B £ H 0 0 0 0 0 0




%%n%ﬁlﬁ =% (N02) ARE
] SH24E SH3E

% =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE

BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364

B % B R il 717 739 718 736 742 716 742 716 732 737 670 739 8704

A¥EiYiE ppm 0.012 0.009 0.008 0.008 0.009 0.010 0.013 0.016 0.021 0.024 0.021 0.018 0.014
it 1BRENRSIE ppm 0.041 0.036 0.030 0.032 0.038 0.035 0.056 0.069 0.066 0.079 0.070 0.061 0.079
1 HESENDRSIE ppm 0.019 0.015 0.017 0.015 0.016 0.019 0.022 0.027 0.043 0.044 0.036 0.031 0.044
& 1 B RSB AY0.2ppm%E #E Z 1= BRI 2K B RE 0 0 0 0 0 0 0 0 0 0 0 0 0

1 B REEAY0. 1ppm L E0.20pm A FDBSRAZK | FERS 0 0 0 0 0 0 0 0 0 0 0 0 0

H T{B0.06ppmZ A 1= HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0

H F #1E0.04ppm L £ 0.06ppm LT D B £ = 0 0 0 0 0 0 0 0 1 1 0 0 2

BAIEBH =] 30 31 30 31 31 30 31 30 31 31 28 31 365

I % B R il 718 740 711 742 742 716 742 716 742 737 670 740 8716

AEH{E ppm 0.010 0.008 0.007 0.006 0.007 0.007 0.011 0.015 0.019 0.022 0.020 0.016 0.012
? 1BRENRSIE ppm 0.036 0.030 0.025 0.024 0.025 0.033 0.037 0.052 0.061 0.076 0.076 0.059 0.076
4 HEHEDRESE ppm 0.016 0.012 0.012 0.012 0.010 0.014 0.016 0.022 0.039 0.042 0.042 0.029 0.042
% 1 BFREEHY0.2ppm % B Z 1= B [E1 31 B R 0 0 0 0 0 0 0 0 0 0 0 0 0

1 B REEAY0. 1ppm L E0.20pm A FOBSRAZR | RS 0 0 0 0 0 0 0 0 0 0 0 0 0

H T{B0.06ppmZ A 7= HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0

H F1{E0.04ppmLL £ 0.06ppm L F D H £ H 0 0 0 0 0 0 0 0 0 2 1 0 3

BEAIEBH =] 30 31 30 31 31 30 31 30 31 31 28 31 365

I % BF fF il 717 739 712 741 742 717 742 716 736 742 670 741 8715

Al ppm 0.010 0.007 0.006 0.006 0.006 0.006 0.009 0.013 0.018 0.020 0.018 0.015 0.011
;; 1BRENRSIE ppm 0.035 0.027 0.020 0.026 0.028 0.027 0.038 0.044 0.061 0.087 0.068 0.055 0.087
EE HEMEDRESE ppm 0.019 0.012 0.011 0.016 0.013 0.011 0.017 0.023 0.032 0.032 0.034 0.031 0.034
& 1 B REMEAY0.20pmZ B Z 1= B fE1 2 R sl 0 0 0 0 0 0 0 0 0 0 0 0 0

1 B REEAY0. 1ppm L £0.20pm A FOBSRAZR | RS 0 0 0 0 0 0 0 0 0 0 0 0 0

H F{50.06ppmZ 2 7= HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0

H FE$1E0.04ppm L _E£0.06ppm LT D B £ B 0 0 0 0 0 0 0 0 0 0 0 0 0

A3hBIE HER B 30 31 30 31 31 30 31 30 31 31 28 31 365

I 7 B R R 718 735 712 742 742 717 741 718 742 737 670 740 8714

A EiiE ppm 0.009 0.007 0.007 0.005 0.006 0.008 0.011 0.014 0.019 0.023 0.019 0.015 0.012
;'1'3 1HFRENHRSIE ppm 0.037 0.038 0.032 0.020 0.021 0.041 0.048 0.052 0.079 0.083 0.085 0.068 0.085
9 E] s?tﬂ{ﬁo?g%‘.a‘{ﬁ ppm 0.017 0.013 0.015 0.009 0.010 0.020 0.022 0.026 0.051 0.048 0.036 0.032 0.051
% 1 B REMEAY0.20pmZE B R 1= BEEI 2 R il 0 0 0 0 0 0 0 0 0 0 0 0 0

1 BFREMEAY0.1ppm A £0.20pm A FOBFRAZK | BFRE 0 0 0 0 0 0 0 0 0 0 0 0 0

HE1E0.06ppmZE#E A T HEK =] 0 0 0 0 0 0 0 0 0 0 0 0 0

H FE 1E0.04ppm L £ 0.06ppm LT D B £ B 0 0 0 0 0 0 0 0 1 2 0 0 3

AxhAIEEE B 30 31 30 31 31 30 31 30 31 31 28 31 365

Pl R R 718 740 717 736 742 717 742 716 741 737 670 739 8715
= AEH{E ppm 0.011 0.009 0.008 0.007 0.008 0.008 0.012 0.016 0.022 0.025 0.020 0.017 0.014
1 1BRENRSIE ppm 0.040 0.037 0.029 0.028 0.023 0.038 0.044 0.055 0.088 0.079 0.085 0.066 0.088
8 HEHENRSIE ppm 0.019 0.015 0.015 0.016 0.014 0.018 0.022 0.029 0.054 0.049 0.034 0.032 0.054
T 1B R{EAY0.20pmZE B R F=BEEI 2 R il 0 0 0 0 0 0 0 0 0 0 0 0 0
] 1 BFREEAY0.1ppm A £0.20pm A FOBFRAZK | BRRE 0 0 0 0 0 0 0 0 0 0 0 0 0

HE1E0.06ppmZE B A T HE =] 0 0 0 0 0 0 0 0 0 0 0 0 0

H F{iE0.04ppm L _E£0.06ppm L T D B £ H 0 0 0 0 0 0 0 0 2 1 0 0 3




M
=
1N

FE_EHKIEY NOx) ARE

2l SHI2E SHBE
: =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE
BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364
+ B % B R FE 718 742 718 736 742 716 742 718 732 737 670 740 8711
v A¥EiYiE ppm 0.012 0.009 0.009 0.009 0.010 0.010 0.014 0.017 0.023 0.029 0.025 0.020 0.016
2 1BRENRSIE ppm 0.065 0.039 0.032 0.057 0.039 0.040 0.082 0.102 0.175 0.207 0.193 0.118 0.207
| HESENDRSIE ppm 0.021 0.015 0.016 0.028 0.017 0.020 0.028 0.036 0.062 0.078 0.050 0.038 0.078
A T{E NO,/(NO+NO,) % 82.3 83.3 80 70.4 76.1 76.2 77.4 77 74.1 70.2 74.6 80.6 76
A3EIE HE =] 30 31 29 31 31 17 169
I 7E Bl R 718 740 705 742 742 422 4069
= AEHiE ppm 0.010 0.009 0.007 0.006 0.007 0.007 0.008
1BRENRSIE ppm 0.057 0.051 0.033 0.021 0.026 0.040 0.057
BEHEOSESIE ppm 0.021 0.018 0.016 0.011 0.011 0.012 0.021
B F{E NO,/(NO+NO,) % 77 66.4 73.3 77.5 78.6 79.2 74.7
AxhAIEEE B 30 31 30 31 31 30 31 30 31 31 28 31 365
I % B R R 718 742 718 735 742 715 742 718 737 742 670 741 8720
= AEHiE ppm 0.007 0.005 0.004 0.004 0.006 0.005 0.009 0.011 0.018 0.026 0.016 0.012 0.010
% 1BEENRSIE ppm 0.036 0.027 0.022 0.030 0.286 0.031 0.102 0.072 0.292 0.271 0.219 0.107 0.292
HEHENRSIE ppm 0.015 0.008 0.011 0.007 0.032 0.010 0.026 0.026 0.088 0.085 0.040 0.033 0.088
A TH{E NO,/(NO+NO,) % 87.2 87.8 86.5 80.4 71.1 83.2 79.1 83.4 70.2 64.6 74.2 80.8 75.6
HxhAlEH B 30 31 29 31 31 30 31 30 31 31 28 31 364
I % B R sl 717 742 712 736 742 717 741 718 738 742 670 741 8716
i EEZENE ppm 0.007 0.006 0.005 0.004 0.004 0.006 0.007 0.012 0.015 0.020 0.020 0.013 0.010
3 1HRENRSIE ppm 0.046 0.022 0.030 0.025 0.020 0.054 0.083 0.115 0.095 0.186 0.173 0.132 0.186
HIEHEDRSIE ppm 0.013 0.009 0.012 0.011 0.008 0.015 0.015 0.032 0.038 0.070 0.062 0.034 0.070
A FH{E NO,/(NO+NO,) % 87.1 89.5 89.1 86.7 84.5 81.1 81.9 81.6 81.3 76.5 74.2 83.9 81.1
BEAEBRH =] 30 31 30 31 31 17 170
= I % B R il 718 742 718 736 742 417 4073
g A¥EiiE ppm 0.007 0.005 0.004 0.003 0.004 0.004 0.005
%= 1BRENRSIE ppm 0.035 0.027 0.023 0.018 0.031 0.016 0.035
B HESEDRSIE ppm 0.013 0.009 0.009 0.010 0.009 0.007 0.013
A T{E NO,/(NO+NO,) % 89.3 89.8 86.6 87.0 83.7 89.3 87.8




M
=
1N

FE_EHKIEY NOx) ARE

G D25 SFI3EF
: =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE
BEAEBH B 30 20 50
B % B R il 716 487 1203
F A¥EH1{E ppm 0.009 0.007 0.008
it 1BRENRSIE ppm 0.059 0.034 0.059
HESENDRSIE ppm 0.019 0.012 0.019
A TEiE NO,/(NO+NO,) % 86.1 86.5 86.2
BEAIEBE =] 30 31 30 31 31 30 31 30 31 31 28 31 365
I % BF fF sl 717 742 712 742 742 717 741 718 736 742 670 741 8720
= AEHiE ppm 0.009 0.006 0.005 0.005 0.006 0.008 0.014 0.017 0.031 0.037 0.024 0.015 0.015
a1l 1BRENRSIE ppm 0.047 0.036 0.027 0.021 0.025 0.033 0.068 0.095 0.200 0.220 0.212 0.101 0.220
BEHEOSESIE ppm 0.018 0.010 0.012 0.009 0.011 0.015 0.033 0.029 0.071 0.074 0.058 0.032 0.074
A TH{E NO,/(NO+NO,) % 85.5 85.7 80.3 73.8 75.5 75.8 74.3 77.1 67.2 61.2 72.2 82.4 72.2
AxhAIEEE =] 30 20 50
it I % B R R 717 492 1209
& ATHiE _ ppm 0.009 0.007 0.008
5 1HEENRSIE ppm 0.076 0.036 0.076
BEHNEORSIE ppm 0.022 0.012 0.022
A TH{E NO,/(NO+NO,) % 87.2 84.7 86.4
HxhAlEH H 30 24 54
B % B A B R 718 585 1303
t EEZENE ppm 0.007 0.004 0.006
2 1BFBENRSIE ppm 0.035 0.029 0.035
HESEDRSIE ppm 0.014 0.009 0.014
A F1fE NO,/(NO+NO,) % 85.1 84.6 84.9
ABIE B B 30 18 48
I % B R il 717 456 1173
Ef ATEHiE ppm 0.004 0.002 0.003
il 1BRENRSIE ppm 0.019 0.016 0.019
HESEDRSIE ppm 0.008 0.004 0.008
A EiE NO,/(NO+NO,) % 83.2 84.4 83.5
AAIEBRH =] 30 31 30 31 31 17 170
I 7E B R 717 742 710 742 742 420 4073
& AEHiE ppm 0.008 0.005 0.004 0.005 0.005 0.004 0.005
H 1BRENRSIE ppm 0.029 0.046 0.018 0.021 0.021 0.053 0.053
BEHEOSESIE ppm 0.013 0.010 0.010 0.013 0.009 0.009 0.013
A TH{E NO,/(NO+NO,) % 84.2 86.1 82.4 81.3 79.4 81.5 82.8




M
=
1N

FE_EHKIEY NOx) ARE

2l SHI2E SHBE
: =H 47 5 oF 7R 5H oF 08 | 1A | 128 B 2R ;g | FHIE
BEAEBH =] 30 31 30 31 31 30 31 30 30 31 28 31 364
" B % B R il 717 739 718 736 742 716 742 716 732 737 670 739 8704
1 A¥EiYiE ppm 0.019 0.014 0.013 0.014 0.016 0.016 0.022 0.026 0.034 0.040 0.034 0.027 0.023
% 1BHEORSIE ppm 0.083 0.055 0.056 0.058 0.062 0.065 0.116 0.213 0.197 0.259 0.238 0.150 0.259
HESENDRSIE ppm 0.029 0.021 0.024 0.025 0.026 0.029 0.038 0.049 0.078 0.088 0.062 0.047 0.088
A T{E NO,/(NO+NO,) % 65.9 68.1 62.8 57.7 59.8 59.4 60.2 61.5 60.6 60.1 62 68.5 62.1
BEAIEBE =] 30 31 30 31 31 30 31 30 31 31 28 31 365
3] I % BF fF sl 718 740 711 742 742 716 742 716 742 737 670 740 8716
1 A¥EHYiE ppm 0.015 0.012 0.011 0.009 0.011 0.013 0.017 0.023 0.030 0.037 0.032 0.023 0.019
4 1BRENRSIE ppm 0.055 0.038 0.052 0.070 0.067 0.068 0.071 0.111 0.152 0.189 0.187 0.119 0.189
& BEHEDRSIE ppm 0.022 0.017 0.016 0.017 0.018 0.019 0.026 0.036 0.062 0.081 0.075 0.042 0.081
A TH{E NO,/(NO+NO,) % 67.3 67.1 63.0 62.3 59.6 57.1 61.7 62.6 63.7 61.4 62.9 69.3 63.3
AxhAIEEE B 30 31 30 31 31 30 31 30 31 31 28 31 365
A B 7 B RFFE 717 739 712 741 742 717 742 716 736 742 670 741 8715
= AEHiE ppm 0.015 0.010 0.009 0.009 0.009 0.009 0.015 0.021 0.029 0.032 0.028 0.022 0.017
s 1BEENRSIE ppm 0.054 0.049 0.039 0.056 0.047 0.054 0.072 0.094 0.137 0.286 0.225 0.121 0.286
£ HEHENRSIE ppm 0.031 0.020 0.019 0.029 0.022 0.020 0.029 0.039 0.053 0.066 0.059 0.061 0.066
A TH{E NO,/(NO+NO,) % 66.1 69.1 66.9 61.1 63.8 64.5 60.5 63.1 62.2 62.2 63.2 66.3 63.7
HxhAlEH B 30 31 30 31 31 30 31 30 31 31 28 31 365
it I % B R sl 718 735 712 742 742 717 741 718 742 737 670 740 8714
1 AEHYiE ppm 0.012 0.009 0.009 0.008 0.009 0.011 0.016 0.019 0.030 0.039 0.028 0.021 0.018
9 1BFBENRSIE ppm 0.055 0.057 0.067 0.026 0.040 0.066 0.094 0.134 0.271 0.296 0.303 0.184 0.303
e HIEHEDRSIE ppm 0.023 0.018 0.020 0.014 0.015 0.028 0.035 0.049 0.106 0.102 0.059 0.049 0.106
A EH{E NO,/(NO+NO,) % 77.3 76.0 69.5 65.5 69.2 69.4 70.0 70.2 64.5 60.0 67.2 73.4 67.8
BEAEBRH =] 30 31 30 31 31 30 31 30 31 31 28 31 365
% I % B R il 718 740 717 736 742 717 742 716 741 737 670 739 8715
8 A¥EiiE ppm 0.016 0.013 0.011 0.011 0.012 0.012 0.019 0.026 0.038 0.046 0.033 0.025 0.022
T 1BRENRSIE ppm 0.080 0.064 0.053 0.056 0.047 0.059 0.102 0.196 0.298 0.269 0.329 0.176 0.329
g HESEDRSIE ppm 0.029 0.025 0.023 0.027 0.023 0.025 0.042 0.063 0.115 0.122 0.060 0.058 0.122
A T{E NO,/(NO+NO,) % 68.8 70.5 69.4 62.3 64.0 68.1 64.3 63.1 56.6 53.2 61.0 65.2 61.6




